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 BCOE-142  

BACHELOR OF COMMERCE – GENERAL 
(B.Com.(G)) 

Term-End Examination 

June, 2022  

 

BCOE-142 : MANAGEMENT ACCOUNTING 

Time : 3 hours Maximum Marks : 100   

Note :  Attempt Section A and Section B. Section A carries 

40 marks and Section B carries 60 marks. All 

questions carry equal marks.   

 

SECTION A 

Answer any two of the following questions. 

1. (a) What do you mean by Budgeting ? What are 

its advantages ? 3+7 

(b) Discuss the process of performance 

budgeting.   10 

2. Describe the external factors influencing pricing 

decisions.  20 
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3. Write short notes on any four of the  

following : 45=20 

(a) Residual Income 

(b) Throughput Costing 

(c) Human Resources Accounting 

(d) Management Accounting  

(e) Provisions  

(f) Cost Reduction  
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SECTION B 

 

Answer any three of the following questions.  

4. (a) The following Balance Sheet pertains to X 

Company Ltd. as at 31-03-2020 : 

  You are required to calculate (i) Current 

Ratio, and (ii) Quick Ratio.  7+7 

              Balance Sheet as at 31.03.2020 

Liabilities 
Amount 

< 
Assets 

Amount 
< 

Share Capital 20,000 Buildings 20,000 

Reserves & 

Surplus 16,000 

Plant & 

Machinery 10,000 

Debentures 10,000 Stock 8,000 

Sundry 

Creditors 11,000 

Sundry 

Debtors 7,000 

Bank 

Overdraft  1,000 

Prepaid 

Expenses 2,000 

Bills Payable 2,000 Securities 12,000 

Provision for 

Taxes 1,000 Bank Balance 2,000 

Outstanding 

Expenses 1,000 Cash in Hand 1,000 

 62,000  62,000 

(b) Write any five limitations of Ratio Analysis.  6 
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5. Draw up a flexible budget for overhead expenses 

on the basis of the following data and determine 

the overhead rate at 70%, 80%, and 90% plant 

capacity.  20  

 

Particulars  At 80% capacity  

Variable overheads :             < 

 Indirect Labour  12,000 

 Stores including Spares   4,000 

 

Semi-variable overheads : 

 Power (30% fixed, 70% variable) 20,000 

 Repairs (60% fixed, 40% variable) 2,000 

 

Fixed overheads : 

 Depreciation  11,000 

 Insurance  3,000 

 Salaries  10,000 

 

 Total Overheads   62,000 

  

 Estimated direct labour hours = 1,24,000 hours   
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6. (a) From the following information, calculate :   5+5  

(i) Material Price Variance, and  

(ii) Material Usage Variance.  

 For making 10 kg of GEMCO products, the 

standard material requirement is : 

Material Quantity Rate per kg 

(<) 

A 8 units 6·00 

B 4 units 4·00 

 During April 2020, 1000 kg of GEMCO 

products were produced. The actual 

consumption of material was as under : 

Material Quantity Rate per kg 

(<) 

A 750 7·00 

B 500 5·00 

(b) Explain the advantages of Standard Costing.  10 

7. (a) You are given the following data :  

   Fixed cost  < 4,000 

   Break-even point  < 10,000 

 Calculate : (i) Profit when sales are < 20,000, 

and (ii) New break-even point if selling price 

is reduced by 20%.  5+10 
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(b) From the following data, calculate the actual 

sales :    5 

   Fixed Cost  < 8,000 

   Profit Earned  < 2,000 

   Break-even Sales  < 40,000  10 

8. (a) Z Ltd. company produces and markets ball 

point pens. Due to competition, the 

company proposes to reduce the selling 

price by 10%. Examine the effects of 

reduction in selling price, for the following 

available information : 

      < 

(i) Present sales of 3,000 units 3,00,000 

(ii) Variable costs 1,80,000 

(iii) Fixed costs    70,000 

(iv) Net profit     50,000 

  Indicate the number of units to be sold to 

maintain the same profit.  10 

(b) Discuss the steps involved in Activity-Based 

Costing with suitable examples.  10 
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 ~r.gr.Amo.B©.-142  

dm{UÁ` _| ñZmVH$ - OZab  
(~r.H$m°_.(Or)) 

gÌm§V narjm 

OyZ,  2022 

 

 
~r.gr.Amo.B©.-142 : à~ÝY boIm§H$Z 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100   

 ZmoQ> : IÊS> A Am¡a IÊS> ~ XmoZm| H$s{OE & IÊS> A 40 A§H$ H$m h¡ 

Am¡a IÊS> ~ 60 A§H$ H$m h¡ & g^r àíZm| Ho$ A§H$ g_mZ h¢ &   

IÊS> A 

{ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 

1. (H$) ~OqQ>J go Amn Š`m g_PVo h¢ ? BgHo$ Š`m bm^  

h¢ ? 3+7 

(I) {ZînmXZ ~OqQ>J H$s à{H«$`m H$m {ddoMZ H$s{OE & 10 

2. _yë`-{ZYm©aU {ZU©`m| H$mo à^m{dV H$aZo dmbo ~mø H$maH$m| 

H$m dU©Z H$s{OE & 20 
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3. {ZåZ{b{IV _| go {H$Ýht Mma na g§{jßV {Q>ßn{U`m±  

{b{IE : 4×5=20 

(H$) Ad{eï> Am` 

(I) àdmhj_Vm bmJV-{ZYm©aU 

(J) _mZd g§gmYZ boIm§H$Z  

(K) à~ÝY boIm§H$Z  

(L>) àmdYmZ  

(M) bmJV _| H$_r 
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IÊS> ~ 

{ZåZ{b{IV> _| go {H$Ýht VrZ àíZm| Ho$ CÎma Xr{OE &  

4. (H$) X H§$nZr {b{_Q>oS> H$s 31.03.2020 H$mo ~¡b|g erQ> 
{ZåZ{b{IV h¡ :  

  BgH$s ghm`Vm go Amn (i) Mmby AZwnmV, Am¡a  
(ii) Vrd« (ÐþV) AZwnmV H$s JUZm H$s{OE & 7+7 

                   31.03.2020 H$mo ~¡b|g erQ> 

XoZXm[a`m± am{e 
< 

n[agån{Îm`m± am{e 

< 

eo`a ny±Or 20,000 ^dZ 20,000 

Ama{jV Am¡a 
A{Yeof 16,000 

g§`§Ì Am¡a 
_erZar 10,000 

{S>~|Ma 10,000 ñQ>m°H$ 8,000 

{d{dY boZXma 11,000 {d{dY XoZXma 7,000 

~¢H$ AmodaŚ>mâQ> 1,000 nyd©XÎm ì`` 2,000 

Xo` {~b 2,000 à{V^y{V 12,000 

H$a Ho$ {bE 
àmdYmZ 1,000 ~¢H$ ~¡b|g 2,000 

^wJVmZ-`mo½` 
(~H$m`m) IM} 1,000 amoH$‹S> eof 1,000 

 62,000  62,000 

 
(I) AZwnmV {díbofU H$s {H$Ýht nm±M gr_mAm| H$mo  

{b{IE &   6 
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5. {ZåZ{b{IV Am±H$‹S>m| Ho$ AmYma na Cn[aì`` IMm] Ho$ {bE 

bMrbm ~OQ> V¡`ma H$s{OE Am¡a g§`§Ì H$s 70%, 80% Am¡a 

90% H$m`©j_Vm Ho$ {bE Cn[aì`` Xa kmV H$s{OE &  20 

 
{ddaU   80% H$m`©j_Vm Ho$ {bE  
Ma Cn[aì`` :                       < 

 AàË`j _OXÿar  12,000 

 A{V[aº$ nwOm] g{hV ^ÊS>maU  4,000 

 
AY©-Ma Cn[aì`` : 

 {~Obr (30% ñWm`r, 70% n[adV©Zerb) 20,000 

 _aå_V (60% ñWm`r, 40% n[adV©Zerb) 2,000 

 
ñWm`r Cn[aì`` : 

 õmg  11,000 

 ~r_m  3,000 

 doVZ   10,000 

 

Hw$b Cn[aì``  62,000 

 AZw_m{ZV àË`j _OXÿar K§Q>o = 1,24,000 K§Q>o  
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6. (H$) {ZåZ{b{IV gyMZm go, JUZm H$s{OE : 5+5 

(i) gm_J«r H$s_V àgaU, Am¡a  

(ii) gm_J«r Cn`moJ àgaU  

 10 {H$.J«m_ GEMCO CËnmX V¡`ma H$aZo Ho$ {bE 

_mZH$ gm_J«r Amdí`H$Vm {ZåZ àH$ma h¡ :   

gm_J«r _mÌm à{V {H$.J«m_ Xa 
(<) 

A 8 BH$mB© 6·00 

B 4 BH$mB© 4·00 

 Aà¡b 2020 _|, 1000 {H$.J«m_ GEMCO CËnmX H$m 

CËnmXZ hþAm & gm_J«r H$m dmñV{dH$ Cn^moJ {ZåZ 

àH$ma Wm :  

gm_J«r _mÌm à{V {H$.J«m_ Xa 
(<) 

A 750 7·00 

B 500 5·00 

(I) _mZH$ bmJV-{ZYm©aU Ho$ bm^ ñnï> H$s{OE & 10 

7. (H$) AmnH$mo {ZåZ{b{IV Am±H$‹S>o {XE JE h¢ : 

   ñWm`r bmJV  < 4,000 

   g_{dÀN>oX {~ÝXþ  < 10,000 

 JUZm H$s{OE : (i) < 20,000 H$s {~H«$s hmoZo na bm^, 

Am¡a (ii) {~H«$s _yë` H$mo 20% H$_ H$aZo na Z`m 

g_{dÀN>oX {~ÝXþ &   5+10 
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(I) {ZåZ{b{IV Am±H$‹S>m| H$s ghm`Vm go dmñV{dH$ {~H«$s 

H$s JUZm H$s{OE :  5 

   ñWm`r bmJV  < 8,000 

   àmß` bm^  < 2,000 

   g_{dÀN>oX {~H«$s  < 40,000 

8. (H$) Z {b{_Q>oS> H§$nZr ~mb ßdm°B§Q> noZ H$m CËnmXZ Am¡a 

{~H«$s H$aVr h¡ & à{VñnYm© Ho$ H$maU, H§$nZr {~H«$s 

_yë` _| 10% H$s H$_r àñVm{dV H$aVr h¡ & 

{ZåZ{b{IV CnbãY gyMZm Ho$ AmYma na {~H«$s _yë` 

_| H$_r H$m à^md Om±M H$s{OE :  

       < 

(i) dV©_mZ 3,000 BH$mB© H$s {~H«$s 3,00,000 

(ii) n[adV©Zerb bmJV  1,80,000 

(iii) ñWm`r bmJV    70,000 

(iv) ZoQ> bm^   50,000 

g_mZ bm^ àmßV H$aZo Ho$ {bE Amdí`H$ ~oMr OmZo 

dmbr BH$mB`m| H$s g§»`m kmV H$s{OE &   10 

(I) Cn`wº$ CXmhaUm| H$s ghm`Vm go g{H«$`Vm-AmYm[aV 

bmJV-{ZYm©aU _| {Z{hV {d{^Þ nXm| H$m {ddoMZ 

H$s{OE &   10 

 


